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B.E./B.Tech. DEGREE EXAMINATIONS,
NOVEMBER/DECEMBER 2010.

FIFTH SEMESTER
CIVIL ENGINP)ERING
CE 1304 — ENVIRONMENTAL ENGINEERING
(REGULATIONS 2007)
Time : Three hours Maximum : 100 marks
Answer ALL questions.

PART A — (10 x 2 = 20 marks)

1. What do you mean by variation in water demand’?

2. What factors affect the design of an Intake structure?
3.  Name any four coagulants.

4. Define prechlorination and state its purpose.

5.  Define Sullage and sewage. Classify sewage

6. How do you test a sewer line when newly laid?
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Differentiate oxidation pond and oxidation ditch

‘What is mean by F/M ratio? ’

What are the disposal methods for sewage?

What is mean by sewage sickness?

(@

®)

(a)

PART B — (5 x 16 = 80 marks)

In two periods each of 20 years. a city has grow
from 40000 to 160000 and then to 280001
Determine the saturation population. The equatic
of logistic curve, the expected population after tk
next 15 years. (1¢

Or

Explain with neat diagram any four types of Intal
structures. Qa

(i) Draw a neat sketch of Clari-flocculator a
explain its working. [

@i) A filter unit is 4.5 m by 9.0 m. After filteri
10,000 cubic meter per day in 24 hour peric
the filter is backwashed at a rate of
lit/m#/sec for 15 min. Compute the avera
filtration rate, quantity and percentage
treated water used in washing, and the rate
wash water flow in each through. Assume
troughs.
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(i) Describe in brief different types of layouts of
water distribution system. Give their merits

and demerits ®)
(i) Explain about Equivalent pipe method. 8)
Write short notes on (16)

(i) Drop man holes.

(i) Lamp holes.

(Gii) Cleaneuts.

(iv) Street inlet called gullies.
Or

Design the sewer to serve a population of 36000, the
daily per capita water supply allowable being 135 L,
of which 80% finds its way in to the sewer. The slope
available for sewer to be laid is 1 in 625 and the
sewer should be designed to carry four times the dry
weather flow when running full. What would be the
velocity of flow in sewer when running full? 16y

() Define the following: activated sludge, mixed
liquor, mixed liquor suspended Solids
concentration, mixed liquor volatile suspended
solids concentration. 8
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(ii) Design a septic tank for a hostel with tk
following data: (1) No. of users = 125 (2) pea
discharge — 168 lpm (3) Desludging period -
1 year Assuming the percolation rate as 2
minutes per cm. Design dispersion trenc
system for the disposal of the septic tar
effluent. (

Or

Explain with neat diagram the working principle
Trickling filter. (1

(i) Explain the different stages of self purificatic
of river. (¢

(ii) Explain about Oxygen sag curve. (
Or

A stream having 10 m width and 2m depth with ho
of 14.1 m%s is used for the disposal of sewage at t!
vate of 1m¥s from a city. The Initial BOD in tl
river is zero. DO is 8.26mg/Land the temperature
26°C. The Initial BOD in the sewage is 200 mg/
DO is zero and the temperature is 26 (Value

K, =0.62 per-day and K, =2.93per day. Calcula
critical DO delicit. DO deficit after 5 days and tl
distance corresponding to critical time. (1




